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= ot of = gz = Sl = o = gz 24 St
1o MeaY Ay 2T AR 62,021,000 62,021,000 0| Al ol74H| 29 231,844,000 | 238,811,000 6,967,000
2 |MEaY  (MEsY | GERESS | 142,936,000 | 142,936,000 0| Atz olZ4H| At 18,720,000 | 18,720,000 0
3 (Meay |Meey | §AFSES, | 793,055,000 | 793,055,000 0| AtRH] Q1248 A5 " | 19314000 19,314,000 0
4 | A4 reay | K52 ME 268,908,000 197,680,000 71 228,000 | A2 o14H| MRI=ERE | 21,152,000 21,152,000 0
5 [ A At ﬁ%ﬁ%ﬁ@% 101,304,500 | 101,304,500 0 | AF2H]| ol AH| 7|EFS A | 158,000| 1,701,000| 1,543,000
6 |Mesy  [aesy | AHEHSIE (390,330,080 | 390,330,080 0| A SEESUTI PIETCIT] 600,000[ 300,000 4300,000
7 AR At %t%;fﬁf'\__go_! 543,941,000 | 543,941,000 0| At2H]| Ao =21| 3|9l 600,000 700,000 100,000
g |Mesy  (uesy  |ZEASZH| 310000] 319,000 0| Atz 2| ofH| 4,000,000| 4,000,000 0
o 2234|2234 |Imwzz | 127638801 128716801 44 780 000 | Al e ZEU=F | 3600,000] 3,600,000 0
10 |22349 |B2349 |A==z2  [185624,000(190,244,000| 4,620,000 | ALSH| 2| 2zez 3,600,000 | 3,600,000 0
1M | BEzxZ2eY | ExZeY  |[AIEFRERZ | 51,620,000| 52,620,000 1,000,000 | AFRH 29H| M 22 3,600,000| 2,090,000| a1,510,000
12 |O|&3 OlEa HELOo|E= 0 972 972 | AFRH| =gH] 2| 2,500,000 2,400,000| A100,000
13 |ojga ojga gaspIEs 1,082 1,082 0| At S| Jlefeyll | 2,000,000| 2,000,000 0
14 |ojg2 olga saloll ™ 1| 183,913,805 | 183,913,895 0| AArZAB | AlAY Al 100,000| 100,000 0
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o 3 2 2 3 B 9z 23 | sz
15 | &4 49 0| 500,000{ 500,000 Kl | Aay ApAEISH| 994,000| 994,000 0
kA0 kA O A Ay Al EYHIRA|
16 | &4 2149 0 2,247 2,247 gl A1y 4l 100,000 100,000 0
17 | @4 2449 1,252,000| 1,289,300 37,300 Say| ALEAIIH| 501,082| 1,501,082| 1,000,000
=1 (e}
18 0 0 0 Ateis] GE718 A% 15,500,000 | 16,500,000( 1,000,000
=13 A
19 0 0 0 GEE=ME ZEPISIN | 59,190,000 | 60,390,000| 1,191,000
S} of | 7t 72|
20 0 0 0 eae Ay 2R 113,316,000 | 97,760,000 | (¢ oo oA
21 0 0 0 GEE=AS | IEASME ) 70,650,000| 70,650,000 0
St (o3 HOHESH AFAH
22 0 0 0 (EE=ME | BHSEMES | 40,177,000| 31,300,000 | 48,877,000
5t of 2
23 0 0 0 GEE=AEAOSHP | 51,823,000| 73,610,000 21,787,000
=13 o
24 0 0 0 GEE= A 2SR | 38,747,000 | 38,747,000 0
St of [3A1 A
25 0 0 0 GEE=AME BT | 25,726,000 19,190,000 | 46,536,000
5t of [ s|araser Ared
26 0 0 0 (EEE S BESIAE 128,387,000 | 137,640,000 | 9,253,000
27 0 0 0 (EE=ME | GRS ME ) 96355000 | 74,670,000 5 655 od
= of |z
28 0 0 0 GE== A S 114,905,000 104,700,000 | 14 505 0d
St (e} | e
29 0 0 0 GEE=AE USRS 113,701,000 | 127,763,000 | 14,062,000
5t of Fsic 2l
30 0 0 0 (E== M AEHES A 125,198,000 | 94,430,000 30 765 od
e of | stARIS =5
31 0 0 0 EEE MY SSNEER 128,321,000 | 160,180,000 31,859,000
=t of F
32 0 0 0 free® Ate | CUMBIIR | 97,495,000 112,970,000 15,475,000
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33 0 0 0| At slaBIs AR FARES AR | g1 480,721 | 81,480,721 0
34 0 0 0| At QETIE AT | S SEES | 165,004,644 | 165,004,644 0
35 0 0 0| AttH] patla A | SAEEEE | 878,753,267 | 878,753,267 0
36 0 0 0| Attt gl eI A | = EB A 304,757,263 | 241,229,263 | 63 525 o
37 0 0 0 [ Attt (EOhE ME | TR OIS | 99,549,000 | 99,549,000 0
38 0 0 0| Atets] ApeohE A | AEHE A | 22.976,000| 22,976,000 0
39 0 0 0| Attt GO AT | e ! 122,679,000 | 122,679,000 0
40 0 0 0 [ Atett] (EChE A | RO AE | 30050 30,050 0
a1 0 0 0 [ Attt freks el | RSO 143 150,680 | 743,150,680 0
42 0 0 0| Atessl AEohE Abed | JIEHETIE | 32,508,850 | 32,528,850 0
43 0 0 0 | Ateiy (EthE ME | A2fhe s dl | 14,981,000 | 14,981,000 0
a4 0 0 oSBT |SMAES  [oRZE | 2750,000| 2,750,000 0
45 0 0 0| &A1& 2= A& 0 972 972
46 0 0 o el =l P ABIBIZ AT oy 0 0 0
47 0 0 o gHEl = [ ABISIR T s 0| 539547 539,547
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